j (5y16—(1 +2)* —tcost®) dt
- LZ/ ng Lo:_@uf')/) at - J_i Eces JC?%-E

||||| ==

0

= 2@7\, 1S oD + :
,_____;____J ConTIvuousS | =
) ——

SO INTEGRAL-!



J. 5% =10x*
sin’(4x® —=3x* -1)

@u"h« SV

—’—’ s =bst—> dx=

du
25— %
.

G(250ox)

B O JY
S (43-2x%=1)
LBl 2e AV
S (4P=3s=) (g(}x’—/ﬁ
@ ~g eCudu®
j’% cacrudy
- ’E cot Lo +C

@ F o (Aw 2 @)




[ =csc? y) dy
@ 0 S e TR DUVS
@y=0Oe ) /
(& Sl |
SO FTC 2. pobs T apPLY

i)




IZS\/1+22 dz

B ve Izt s 5t n

e a
-Z——i; 2%——? &2:’7’%

25 [y2rdz = 2& [ 12> 9‘5’;
- Ji%%ﬂ*?}éd
@flﬁ,ﬁ"f@du
= J— 59: 2 '—t
LB 205 L U
JEGE 22004y
L S T e

| S

_ &
- [% Clirz”)%f‘ =l or

Gl ct=rc s

-



n

Find lim Z

3
e by finding the corresponding definite integral, and evaluating that integral. SCORE: /15 PTS
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Prove that — < _[x arcsin x dx < —.
16 16
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Using proper English and mathematical notation, state both parts of the Fundamental Theorem of Calculus, SCORE: /15 PTS g
as well as the Net Change Theorem.




Let g(x) = J. f(t) dt,where f isthe function whose graph is shown on the right. SCORE: /25 PTS
4

NOTE: The graph of f consists of a line, an arc of a circle, and two more lines.
[a] Find g(-5). 2) 2ACH ‘
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[b] Find g'(1). Explain your answer very briefly. L_____di_.)
{
gD =f(D=3
e
[c] Find the X — coordinates of all inflection points of g . Explain your answer very briefly. =

ﬁ F Al s> From ;MQQ%S/NK e DeCEAS ING & >(’|
Dc(@uﬁmwé ™ maechs%wca @ X=2 B
Rl =r

| E2 o




The table gives the acceleration of a car (in feet per second?) at various times (in seconds). SCORE: /20 PTS
Attime /= 3 seconds, the velocity of the car was 21 feet per second.

t 0 1 2 3 4 5 6 7 8 9 10 11 12 13
alp).[. A ’ I 3 2 5 4 2 0 i 3 0 3 5
[a] Write an expression involving an integral for the velocity of the car at # = 11 seconds. Z> BACH
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[b] Estimate the velocity of the car at # =11 seconds using [a], 4 subintervals, and midpoints.
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